%) We Shine Academy”

guiding you to get through

Find the missing term

GT, IR, KP, , 0oL

a) AZ b) BY c) MN d) EV
all(Bu L ang SHemi{fLilg

GT, IR, KP, ' el

a) AZ b) BY c) MN d) EV

The simple interest on a certain sum for 3 years at 14% per annum is R5.210. The
sum is 1

a) 480 b) 600 c) 500 d) 630"

ol sty 14% semeyd apsipranhmsisd Rm GarenSiisn My @210
staiio0 =bSH OHTemES : '

a) 480 b) 600 c)500¢ d) 630

Find the rate percent per annum when a principal of Rs.7,000 earns a simple
interest of Rs. 1680 in 16 monthg

a) 18% b)8% c) 12% d) 10%
57,000 2iFuss 16 wnaksEnSEE m.1680 Seaian iy S SHTn, ey
alpsmsd sy, |

a)18% _ .+ b)8&% c) 12% d) 10%

What will be the compound interest accrued on a sum of Rs.7200 at a rate of 5%
per anfium in 2 year?

a) Rs.738 b) Rs.1738 c) Rs.1268 d) Rs.648

5% suml el lp sldssH0 murll 72005E Bigah suBLESE Sl &Gl
Fal (i sul 1y aTsleuaT&)Y?

a)Rs.738 b) Rs.1738 c) Rs.1268 d) Rs.648

A is B’s sister. Cis B’s son. D is C's daughter. Ais of D.

a) Grand Father b) Grand Mother c) Son d) Daughter
A ereiiseut Blllen #G@ngil. C eeitisut Bllsi wesi. D ersitusuit Cullsdr Losssi
eTaiiey A eTadiienit Duflesr

a) HIHHT b) umiig C) wasin d) wasir
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If x +y =29, the the value of —+—is

i—a y—=a
a)2 b)0 d) 1
X+y =29, similsv p— + T & &L
a)2 b)o c)-1 d) 1

Find the compound interest on Rs.6250 at 14% per annum for 2 years.
Compounded annually

a) Rs.1670.40 b) Rs.1525.50 c) Rs.1872.50 d) Rs.1175.70
S1F60 5.6250 sl 14% sl [ sl g (pemDuilsy 2 2yenlBhE6EThE S
ALV LTe0, DHMETaE dl [ oy wHiy wrs?

a) 15.1670.40 b) t15.1525.50 c) @.1872.50 d) ¢5.1175.70

Find the cost of carpeting a room 13m long and 9 m wide with a carpet75 cm
broad at Rs. 8 per meter.

a) Rs.1240 b) Rs.4248 c) Rs.1248 d)-Rs.156

75 Qaaf swseoid Glarswn. ssng alflinisn elemeo 151 mEE® 8 Buml s,
13 B0 memb 9 BT 2i&eo Camsiil @i SenM. (IDWSISID Sibs Hm]
allfilsnu suewds suHe GlaEsusn| ssiam’?

a) Rs.1240 b) Rs.4248 c) Rs:1248 d) Rs.156

19

t 6 x—y 14,
If —==, the value of — + —s
2y 7 -+

1
. A C] 1 d) 11_'3'
‘3 . =y / _ L .., x
— ==, GIENll6D ——=— Gl WFHII] HTENE.
2v 77 #y 19 H

13 : 16 1
a]ﬁ . . b)';}' c)1 d) 1;}'

In hew much time will a sum of Rs.1600 amounts to Rs.1852.20 at 5% per annum
compound interest.

a) 2 years b) 1 year c) 4 years d) 3 years

aumii 1600 sl 5% Siemh sl (B sully slsd Lisremil stéhsomer
alFi(haeiev epum 185250 s@in?

a) 2 syamipsaiied b)) 1 suamngso c) 4 symnpeaiss  d) 3 syenEsefso

Find out the missing number of series
1 1 1 i

a5 1 )

a) — b) = c)—

) 18 )32 ) 16
Bpasmeni Gam M allBul L seiTenenr STems
1 1 1 1

B1'54'36" 24"
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1 1
If the cost of fencing a circular path at the rate of Rs 5 per metre is Rs.1100, the
radius of the park is

a)35m b) 7m c) 55m d)11m

@@ sl L sigen URSTaDE Geaed GurtL @@ OlLmE® Rs. 5 alslo 5. 1100
DB 6Te0MI60, LLRISTAIST STID GT60TLIS

a) 3515 b) 7.6 c) 5518 d) 11 16

280% of 3940 =?

a) 10132 b) 11032 c) 11320 d) 11230
3490 — v 280% arauansTia)?

a) 10132 b) 11032 c) 11320 d) 11230

The rates of simple interest in two banks A & B are in the ratio 5:4, Ajperson
wants to deposit his total savings in two banks in such a way that'he received
equal half yearly interest from both. He should deposit the savings in banks A & B
in the ratio

a)5:2 b)2:5 c)4:5 d)5:4

A wBpnb B Sl Gyeh GRS S  Sefeul §hsTar al pumaial 5 ;4
ool ellSlHbBled 2 siengl. RMmEaUT HaE! APULHoISTENSMULILD Fysw (b
QIRASATID 2T Bl QI IIITAIE! Folns Bms@oueurs Uifiss wsa8H
CEiEmT sl et (psaH Galis CHTmsmUE 6hs sl HHH 0
BHHGLD

a)5:2 b)2:5 c)4:5 d)5:4

How many diagonals are there in an nonagon?

a) 36 : b) 27 c) 18 d) 20
R0 LUCHTENETI60 G1HEMG  ADGNMEIL_ L BiH6T 2 6ITeTs0 7

a) 36 b) 27 c)18 d) 20

Find the largest Number among V2 , /3, V4

a) V2 b) V3 c) Va d) all are equal
Lissugpsuamsummst Gufiu siewmr sta’? V2 ,33,34

a) V2 b) V3 c) Va d) semendsin Fnib

If V27 = 64 then find the value of n

a)2 b) 4 c)6 d) 12
V2™ = 64 siaifish Nl I SHTemT

a)2 b) 4 c)6 d) 12
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18, Bybsy enuSF LHGSGD S almmson 2 e albSunen

WS sMSHIN UGG 15
B oFF

¥ mmam il ansy

LHEE S &0

B2 fuss

" GUTSGUTHS!

a) 5% b) 33%% A 4 A

B o=
=

Which letter will replace the qlu_eﬂbn mark?

A W

s . %
i a5 B
| h 9 N

c)S d) R

The simple interest on a sum of money will be Rs 200 after 5 year. In the next 5
year principal amount is tripled. What will be total interest at the end of the 10™
year?

a) Rs.800 b) Rs.650 c) Rs.700 d) Rs.600

@m GoTmehsrs Hail an PUITE 5 auplSas0 @5.200 2 Aps. uBEs S
RUBLSH (PHNLH Cmptenswnsig 3 wLmsTaEDE sslso 10 saml  (wWpgaist
SMLbEGID CQordhs aully Glerms seiaisna)’

Rs.800 b) Rs.650 c) Rs.700 d) Rs.600

21.  Find the missing term

AZ, CX, EV, ,IR
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a)GT b) MN
UL L snd SHewi(hLily

AZ, CX, EV,
a) GT b) MN

If x = 3 + 21/2, then the value of (\/}-%)

a)1 b)2 c)2v2 d) 3v/3
X =3+ 2V2, sisiieh (Vor - \% ) =60l WY e

a)1 b)2 c)2v2 d) 3V3

The L.C.M of two numbers is 495 and their H.C.F is 5. If the sum of the'numbers is
100, then their difference is _

a) 10 b) 46 c) 70 d)y'90

@m aenmEps@iu Widm waiy 495, Cugib aisualm. sewrmencr Wik
WwEHY 5. Bl aemisetisl il Gatenas 100 aailst. oieuelldh aT6mm &6t 6
ASHSIITFD SIS

a) 10 b) 46 c) 70 d) 90

In a class of 60 students, the ratio of boys and girls is 2 : 1. How many boys and
girls in the class? "

a) 40, 20 b) 30 ;30 c) 20, 40 d) 25, 35

60 Guir Glamsmn. em "ﬁm@mﬁa{) el oremelsEnsE: e Buiuwmer aildlsin
2:1 ereflsy oaran@ e nreen |, wTemel Eatan sTantenbens  LTSl]

a) 40, 20 . b) 30, 30 c) 20, 40 d) 25, 35

IfA:B=5:7and B:C=6:11Then find A:B:C
a)55:77:66 b)30:42:77
€)35:49:42 d) None of these
A:B=57ummin B:C=6:11aaflsv A : B: C sHmemr
a)55:77:66 b)30:42:77
€)35:49:42 d) stgaIiisosmey

There are two series given below, of which one is complete and follows a certain
pattern.
8 584 143 467 242 386
43 (a) (b)) (¢) (d) (e)
Which number will come from the following at place of ‘c’?
a) 321 b) 277 ¢) 519 d) 502
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@irswih GeTLT sufiemssst H0p  O&npaHslul (hsimsmsi. Ssubnied (WpHsh auflang
(pugenn Gubmeiit L gl

8 584 143 467 242 386

43 (a) () () (d) (e
'’ eteiiy Bl HFle0 aUTHD sTeIiENEN  HTEHIE.

a)321 b) 277 c) 519

. I (98)3—(6.8)%

Simplify : (9.8)24+9.8 x6.8+ (68)2

a)o b) 1 c)2 d)3
. 9.8)°— (6.8)%

FOEOD 98121 08 x6.8+ (6.8)2

a)o b) 1 c)2 d)3

Find the LCM of 0.6, 9.6 and 0.12.

a)9.4 b) 9.6 c)9.3 d) 9.0
06. 96 wWHmID 0.12651 1B.6LTWL b SemBLlg N
a) 9.4 b)9.6 c)9.3 d) 9.0

Subha can travel 35 km in 2 hrs. If she travel with same speed how much distance
that she can cover after the completion.of 12 hrs.

a) 20 km b) 200 km c)21km d) 210 km

&UT aresut 2 wenll GwyHaist 35, &6 armb sLs&S DT sars, 2CH

Boumdgie Gasimre 12 wenlGErSHglso saiouarey HITW SLHH B’
a) 20 &uf b) 200848 c) 21 &8 d) 210 &.18

What is the formula to find the area of rhombus?
. ; 3 - | 1
a) dl Xdz b) E(dlx dz) C)E(dlxdz) d);(dlx dz)
FHNFAITHE A UTILSTRY BTsH 2 _Ha|D (GHHID 6raen’
N 3 1 1
a)d; xd; b) ;(dlmjz] C]E(dlxc'z) d);(dl’(d?_)

Find the HCF of

1 g 1
?] Z 3 5 9 ; 1 d) 120
—,1; B2 & §iigg mmg_umlﬁtm B.0ums — sneu Bewn_Liig 1
a); b) - e d) —

Find the last column

ARIE
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L.

THITATBTES] DNMENLL STE0015.

=

L,

What number is opposite to 3?

PPPE

{n) (1) )

a)2 b) 4 . 6
oIl 3dbE agiGy 2 _siien @eHBHID 2 oien srenl sleien?

() (m1) (av)

a)2 b)4 c)6 d) 5

39852+ 17 =81x12
a) 41 b) 1681 d) 43
39852 + V7 =81x 12
a)a1 b) 1681 d) 43

37. Ifa:5=hbh:7=c:8 thenfind -
a)l b) 2 c)3 d)4

a:5=b:7=c:8 aafst ol - gy Sl (hUig

a
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a)l b) 2 c)3

Find the 4" proportional to 4, 16 and 7

a) 26 b)28 c) 24

4, 16, 7 — & misnsmeus olidossmesd semihLilg.
a) 26 b) 28 c) 24

Mala invested Rs. 5,000 for two years at 11% per annum. Find the total amount
received by her at the end of 2 years

a) Rs. 5,100 b) Rs. 6, 200 c) Rs. 6,100 d)Rs. 5,200

6T et M@ 11% eully eimdhslso @h.5,000m Byl 2uebHEHHE
(&HetB GeuisSsnmni. Eysaiiimb 2ymigedt (pgelet euit Glumnb Gwngsdh
ClepTeNHNUIS HTEND. R %

a) #5.5,100 b) .6, 200 c) 5. 6,100 d). m. 5,200

Find the compound interest on Rs.15, 625 for 9 menths, at 16% per annum
compounded quarterly.

a) Rs. 1,950 b) Rs. 1,948 Cc]Rs.1,947 d) Rs. 1,951
05.15,625 @ 9 wEIFRBEHHEE 16%.ub sl aissds sl GElisrsy,
BULIY STeUTsHIhHEG @M (oM. BFTSSIULL T6D, Sl (h 6ULIQeNUIS &HT6m0 .

a) dh.1,950 b) 1,948 c) . 1,947 d) . 1,951

What is the humber of dots on the face opposite 2 dots?
8 N SN
) £
L' ) J t.'\.' ';J

{{;{/
i) L
a)l b) 4 c)3 d)6
Eiyewi(h LsiTaMasit 2 616N (PSHHHIDBEG s1HBT 2 66N (PpHHHE0 616 SHn e
LisTTaITa&b 6l 2 6itsmeon?

d)6
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The price of a house is decreased from Rupees Fifteen Lakhs to Rupees Twelve
Lakhs. Find the percentage of decrease.

a) 10% b) 20% c) 30% d) 5%

@ ofligenr ailensv 15 @leol s murwisSiphay 12 ool Fib @GenDHSHSH 1660
GMMhEH FENFHD HTeoeD.

a) 10% b) 20% c) 30% d) 5%

Find the HCF of 48, 96, 528, 1584 and 2016

a)4s b) 84 c)44 d) 88
48, 96, 528, 1584 wmpnb 20166 18.GLm.snsmut SemihLIg.

a) 48 b) 84 c) 44 d) 88

HCF of 2°, 3%, 4,5% and 15 is

a) 2? b) 3 c)1 d) 360
23, 3% 4, 5% wimno 15 & 18.Gum.s - N
a) 2° b) 3 c)1 d) 360 «

Six friends A, B, C, D, E and F are sitting in a row facing towards North. C is sitting
between A and E. D is not:at the end. B is:sittifig immediate right to E. F is not at
the right end. How many persons are there tothe right of D?

a)a b) 2 c)3 d) 1

A, B, C,D, Ewimib Feen BOIGN @M afiosfuts albse CHiss Soimbs
o sienant. A whmib E &6 ngl_ﬂleia C 2 sismmir. D sihs SemLFulgonb
Blsvensv. E H@& 2L suiglifics %}Jm@u_gmm B 2 i, auevgd ssmldidlsy F
Esbensu. slsiilsd D cf;@ "anbuul_;mﬁ} sihsmenen  Guirll 2 silsislii.

a)d ' ' b) 2 c)3 d) 1

Find the area of the smallest square that can be circumscribe a circle of area 154
cm’

a) 169 cm’ b) 121 em? c) 144 cm? d) 196 ecm’

134 Geuf urlmsta 2 siten sul L SHme CHT_[ SO sl L Fairsssr
ugLiLiemsms  Heoil(BLg

a) 169 Gls.u* b) 121 Gz c) 144 Q. d) 196 G&.15

In frequency table length of the class interval =
a) Number of class interval

Range
b) Range x Number of class interval

¢) Number of class interval x 100
) Range

Number of class interval
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BepGeuett Ul usd aenoss fle Ben Geasfuls Bemb =
MNifley @enL ClauerTiuTleor eTeiorsun & &

a) B af5 &

b) afFx x Ufiey ElenL Gleueflulier sreimentibans

c) Uiley @en. GeusTuller sremmnlidens X 100

d) [5)):2:2
Nfey Qe GeueMiTle sTaimend S6m &

The following table shows the monthly budget of a family. Find the central angle
for education.

House

Particulars | Food Rent Clothing | Education = Savings | Miscellaneous

Expenses
(in Rs) _
a) 48° b) 24° c) 30° d) 42°
Uisisupd "L ausnemiiliey @m@&HIUSSs wiseauyey, GFsuey ellaumis e
SHILLL (Beitsman. DFHe0 Hevel GlFsoaibarean anowlbEHETEmT DTN BT S.

4800 2400 1600 800 1000 1400

alugmimsst | o qwey | ol HOL®E | 2 oL | Heusl Baify

¥ g
4800 2400 1600° | + 800 1000 1400

Soir

(Bl aum)FHai

LlFsvam6iT
(tm)

1
a) 48" b) 24° " c)30° d) 42°

In a right triangular ground, the sides adjacent to the right angle are 50 m and 80
m. Find the cost of cementing the ground at Rs.5 per sq.m

a) Rs. 13,500 - bj Rs. 650 ¢) Rs. 10,000 d) Rs.20,000

a0 Aanlatam (rstsren mgalara BassSer, CemBaranssiing oumde

2 gien whBRIET 0L, 8018 yamelsy o sitenen. @@ FH W L MHHG 5.3 «iHb,
Heohslh@ Foweil bouiw sy Gasvey ersiear?

a) Rs. 13,500 b) Rs. 650 c) Rs. 10,000 d) Rs.20,000

One side of a rectangular field is 15m and one of its diagonals Is 17m. Then the
area of the field is

a) 135 m’ b) 115 m’ c) 120 m* d) 125 m?

@ Glosisns sugey sulEdiedn @@ LsHD L5 oysanb, oiHe @F apsveuaill L ib
16 sysanp BmpssSns. 2a06ursl 2Bs suweder uFliLsTa)
S5 DmBHGID.

a) 13515 b) 115 c) 120 F d) 125

The ratio between two numbers is 9:5 and their sum is 224. Find the numbers.

a) 144 & 80 b) 216 & 8 c) 124 & 100 d) 112 & 112

EBm semmmemen allSlHid 9.5 stalsv, eumpilsn gl HhOETens 224 =16
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@minish, oeialm aemsst wrsns?
a)144 oppb 80  b) 216 wnmib 8 c) 124 wihmib 100 d) 112 wimid 112

If the ratio of two numbers is 3:4 and their H.C.F is 4 then their L.C.M is
a)12 b) 16 c) 24 d) 48
Eiyewiy stentimaiien all@sHn 34 MDD DEmeumsten WGILITa 4 sTeilisn
2imeuasetieir .Gt 1o

a)i2 b) 16 c)24 d) 48

Find the C.I on Rs.15,625 at 8% p.a for 3 year compounded annually.

a) 4058 b) 4048 c) 4028 d) 4018

Rs. 15,6258 oemb auly 8% &I selsy, 3 uenmbsEhsd gal(h sullg
)

a) 4058 b) 4048 c) 4028 d) 4018

The value of machine depreciates by 5% each year. A man pays Rs:30,000 for the
machine. Find its value after three years.

a) Rs. 25, 621 b) Rs. 26, 521, 55 ) Rs.27,521,65 -d)Rs.ZS, 721,25
B0 BWHSHIHH WY @AGRITG AHD 3%, GIVEDH. enall Bms
AUTRGUBBG 15.30,000 OBTHHSAT. sy QL:SM’@EE pb@GU U@ Blsen gl
STEIEN 7

a) Rs. 25, 621 b) Rs. 26, 521, 55 €] Rs.27,521,65 d)Rs.25, 721, 25

The value of[l -x3 ][4 =X35- ]EI
b) -
] [4—.%‘5 ]r’rr A |

151
151 d) 22

32 5 151
c d)—
151 )

b) -
Complete the series : 225, 289, 7, 441.
a)361 b) 375 c) 383 d)386
aflenauwlicd efllhul Leng migly®s: 225, 2897 | 441
a)361 b) 375 c) 383 d)386

1
The next term Of_o in the sequence -, =, —,

b) 5 d)i

C
30

.. 6160Im GleTL reuflenaulist, . min] 27.-5@ 3bHs 2_mii]

1 1
b) 5 d) -
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A can do a piece of work in 10 days and B can do it in 15 days. How much
each of them get if they finish the work and earn Rs. 1,500?

a ) A =600, B=900 b) A=700, B=800

c) A=800, B=700 d) A =900, B=600

A gm GCousmsuenil 10 Brlssfiisud, B 2swed 15 prlisaisun GlFuliml wpigliu.
Gimanmpd Caimbhal S6ubammevsnwd Claliml . 1,500 — . Flgermsy,
S1HGISTaEmMLL aeiamml 1Tfisad blarataT?

a ) A =600, B=900 b] A=700, B=800

c) A=800, B=700 d) A =900, B=600

For data analysis the types of collected data are

a) Statistical data, numerical data

b) External data, internal data

c) Grouped data, ungrouped data

d) Primary data, secondary data

Blmaums LT &J UGLUTLISIBETen alsupb wirsnsu?
a) LaiTatT eNisNmID, &IGIE ellGNFID

b) Gieusrll alieuyid, o &1 slleuyLD

C) [ alieumd, el alsuFid

d) wpaaflome allauyd, Gl R (@ysimd)” eflsugo

If 18 men can do a work in 20 days then 24 men can do the same work in
a) 20 days b) 22 days, c) 21 days d) 15 days

18 mLiTsT @m Geusnsvsnls 20 HILssise GFlismsy 24 mlUTesit 2iBH
Eaysmavenill GFlIGpRES LG ST

a) 20 w6t b)) 22 mBrlssi c) 21 ml a6t d) 15 mm_a&eir

A Capsule isinthe form of a cylinder with hemispherical ends. The total height of
the capsule is 19 cm and the diameter of the cylinder is 7 cm . Find the volume of
the capsule.

a) 147mcm’ b) 175.47 mem? ¢) 175.70 mem’ d) 204.17 wem®
@(h Wwihdsnghd GUUILINsIZE 2 @mensnuileil SIHUBULLD SEnysul LD SenohHal
Curaim augellst 2 sendl iHe Glords 2 wgbn 19 Gzl = (menenuller

all L1 7 GFd wisdlanrsaliuller s Dpna) STes.

a) 147w Gz .8 b) 175.47 mG=u  ¢)175.70 mGea8”  d) 204.17 Tm®

If 60% of A =% of B, then A:B is
a)4:5 b) 5:4 c) 9:20 d) 20:9

Adi 60% =B @ -j—l_lrrh@ aafleo, AB ereiLis
a)4:5 b) 5:4 c)9:20 d) 20:9
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A ribbon is cut into 3 pieces in the ratio 3:2:7. If the total length of the ribbon is
24m, then the length of each piece is

a)ém,4m, 14m b) 9m, 8m, 7m c) ém, 6m, 12m d) ém, 8m, 10m
24§ menapeiten @ Flusit 3:22.7 arsip  sllSiHHHIE0 (ST HISWIL BETTTS

Gleu_ L OUBSlEmHEL  eeiblsursimsier merid

a) 618, 418, 1418 b) 9if, 8if, 718 c) 61f,, 61f5, 1216 d) 618, &6, 10:f

Find the G.C.D. of X” + 2xy +V°, (x+ V)", 25 (x* = V)

a)x+y b) x-y c)—x+y d) -x-y
x>+ 2xy +y°, (x+v)7, 25 (X’ = y°) Bleil EOUT.6N B,

a)x+y b) x-y C)—X+y d) -x-y

G.C.D of Xy, X°y, Xy’ is

a) xy’ b) xy c) xy’ d) x’y
Xy, Xy, Xy’ sraiuemsumnisin 1B.GLT.6.  sTeiTLIS)

a) x’y’ b) xy c) xy’ d)x’y. |

Vinay borrowed Rs.50,000 fromia bank for a period of 2 years at the rate of 4%
per annum. Find simple interest

a) Rs.1,000 b) Rs.3,000 c) Rsi2,000 d) Rs.4,000

allonl @m aisulsh @.30,000 sienE aulip 4% Esb Eren() oLbHEETEEEGS
sLeMMS LILBBTT. Hemeu iy sem(hiip

a) 15.1,000 b) m.3,000 " ¢) 152,000 d) ¢5.4,000

If a =7, b=5, then the value of a* — b* + 3a’b is

a) 218 b) 307 c) 735 d) 953
a=7 wpgiy b=5 saish a®—b®+3a’hen walin srens

a) 218 b) 307 c) 735 d) 953

Simplify : 3.5+ (70f 7) +5x3—1=
107 109

a) o b) —; _ d

106
140 130

HMHBGHS 3.5+ (7of 7)+5x3—-1=
107 109 106

g ) d) a1

141

The cube root of 0.027 is

a)0.3 b) 0.03 : d) 0.09
0.027 Bleit &eMePEVID

a)0.3 b) 0.03 y d) 0.09

76. 280%0f3940="7
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a) 10132 b) 11032 c) 11230 d) 11320
3940 (60280% =?
a) 10132 b) 11032 c) 11230 d) 11320

In a class of 35 students, 7 students were absent on a particular day. What
percentage of the students were absent?

a) 10% b) 20% c) 30% d) 40%

@G SO Brafs, 35 TemeiTHa 2 &a @0 suGINNE0 7 (0w el
SUMHENE HIEN6VEN60 6T6NY, GIHME HITH LOTEMIUTHETIM FHIHHMBD STGIH.
a) 10% b) 20% c) 30% d) 40%

If the surface areas of two spheres are In the ratio of 4:25 then the ratio of their
volume is

a) 4:25 b) 25:4 c)125:8 d) 8:125

EBm Bsmsmsstten wgly elSlse 425 aelsy, BT ST DET6Y Qi HLD

a) 4:25 b) 25:4 c)125:8 d)8:125

If the side of a square be increased by 4cms, the arealincreases by 60 sq. cms.
The side of the square is

a)12cm b) 13.em c) 14em d)5.5cm

RH FHIHH UbBD 4 GFIf siFsfe@n BuUTa s ughuse 60 &.60F.08
2P ETHEBH 6ol DHH FHITHIHN Ued Di6Ne sTeien?

a)12 cm b)13cm... | c)14cm d)5.5 cm

The cost of levelinga rectangular ground at Rs. 1.25 per sq.m is Rs.900. If the
length of the ground is 30 m, then the width is

a)330m - b) 34 m c)24m d) 18 m

R (FERE SOFTIHMS FET 296G m.1.23 slsn sfibsin syEn Gasun
t5.9000 @D, DbeHIDHTASESET Band 30m saiey B BeLEMH HeRHLIL.
a)330m b)34m c)24m d)18 m

120 men had provisions for 200 days. After 5 days, 30 men died due to an
epidemic. The remaining food will last for

a) 150 days b) 146& days c) 245 days d) 260 days

120 Guir, 200 Tl &EnHE Gohensuumen 2 |l GUTIHLSMmeT sneubHHETsNsIT. S
BIL&EHSGL UmEg 30 Gur GemmmGHTUT @inhal all(h&simenT, sllsh
Wahpsiien 2 emey) GUTHsT 615Hemel BT H6EHEHEH BlmebEn?

a) 150 i Hsil b) 146-5‘- days c) 245 days d) 260 days

83. Inthe following series, a wrong number is given, find out that wrong number.

4,5, 10, 18, 34,59, 95
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a) 34 b) 59 c)10 d) 18
Uisiisupo GsTLTsy Haumprsn seiensmis S bLily

4, 5, 10, 18, 34, 39, 95

a) 34 b) 59 c)10 d) 18

The ratio of the area of a square to that of the square drawn on its diagonal is
a)1:1 b)1:2 c)1:3 d) 1.4

@@ FHTHHH Ui, DSl Apsnsoail LD sulfilims  susnyiiufio
FEITHHE UFULIBEGHIED 2 siTer allalSInsigsl

a)lil b)1:2 c)1:3 d) 1:4

The value of[1+ ][1+—] [ +1+3 [1+i

v+2 !
a) 1+—5 b) — c)*—"‘ d) ==

45
[ x+1 2 [1 +E [] + | g

1 x+5
+— —
a) L x+5 ) x+5 )x+1

g

XD
What is probability of getti=n’g more than 5 when a diceis thr‘oWn?
5
a) - b) = C) d)
@@ (%= L(r_rjl_l_uume(Eurr@ 3-M@ @mso &L LIS EBTen nﬁaa;pg)&.su GIE0T 60T 7
a) b) - ) d) 2
6 5 6 6

A refrigerator is purchased for Rs: 14, 355, including sales tax. If the actual cost
price of the refrigeratar isRs. 13,050, find the rate of sales tax.

a)11% “b) &% d) 9% d) 10%

@06 Geistsem Gllysow, slpusmer afiGurf Gsism @m.14,355-5@

ol BaluGEnsl ois6 2 sHamwwurar sl elsnem m. 13,050 siefis
alLIeneT sull FHaIHHMBHDH HT60ISD.

a)11% b) 8% d) 9% d) 10%

If [ZP ﬂ = 4, the value of [pB- +8_:? is
a] 4 b) 5 C] 8 d] 15
If [Zp -l-] = 4, the value of [p3 + i.] & Eiil
P 8p3 :
a)4 b) 5 c)8 d) 15

Six people A, B, C, D, E, F are sitting on the ground in a hexaganal shape. Allthe
side of the hexagon so formed are of same length. Ais not adjacenttoBorc,d is
not adjacent to C or E, B and C are adjacent, F is in the middle of D and C. Which
of the following is not a correct neighbor pair?
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a)AandF b)D andF c)BandE d)CandF

A, B, C,D, E, F o1&Buwinit oimmi@simsn sigaudhHhsh FIOWIT ST HH60
SloTh&eTsTanT. A-Ln B-Wib symarsnwuisy Zevsmev. 216 Gumsd Awyb Cuypb
Simersnonllsd @lsvsnen. D-wh C-53b, E-SGlb ymarsnnuisy @lsbsmen b-wib
C-ylb zmalsv 2 sismsmt. F asiius D-s@in C-d@w phalsv 2 sisngml. 6w
2 sismaumaeT sl SimETawuisy @stsors Ggomg?

a) A-upp F-b b) D-upb F-ip c) B-up F-ib d) C-upn F-ib

The length of the longest rod that can be placed in a room of dimensions 10mx
10m x5Sm s

a)15v3 m b)15m c)10VZm d) 5V3m

10 x1015 x 518 ysmeysion @@ enmuist, svaIUSHETH R BHioLiluie
SIBHEBULF HeTiDn WimEi?

a) 15V3 B b) 1518 L c) 10V2 BLLir d) 5v3 L

If V4096 = 64, then the value of V4096 +V40.96 +V0.004096/1s

a) 70.4 b) 70.464 ¢)71.04 dy71.a®
V4096 = 64, sisiiso V4096 +V40.96 +/0.004096 Gigr

a) 70.4 b) 70.464 c)7L.04 - d) 71.4

Area of the rectangular region 2< x< 5,-4<y < 3is

a) 9 units b) 12 units c) 15 units D) 20 units
2<x<5,-1<y<3 sush il IBAED Gasios LGS Lmarsna

a) 9 BsuEHBST " b) 12 si0@ss

c) 15 apumsEen | o _ d) 20 =po@ssi

1100 -boys an_q 700 girls are examined in a test. 42% of the boys and 30% of the
girls'pass. Find the % of the fail.

a) 58% b) 62§ % c) 64% d) 78%

@m Caitsmey 1100 wmamreuiTseme, 700 TamallBETHD, sTIDHIS BT,  SeuTdHsT 6o
42% uwnemeiTaEnio 30% wrsmisiisesmn BsiFd GumissimenT. aeafist Barsvsl
DML HEHTTO FHABHID HTom.

a) 58% b) 5z§ % c) 64% d) 78%

Find the greatest number which on dividing 1657 and 2037 leaves remainders 6
and 5 respectively.

a) 127 b) 135 c) 240 d) 147

1657 wmmib 2037 sidlul @im aanse, @ sememTsy suGUBD GUTIps
FHMLEHEBD 1585 psmm 6 WwHmED S aelsd, aGEGn WsUGLITL eeir STems.
a)127 b) 135 c) 240 d) 147

The Best Coaching Institute For TNPSC, Bank, SSC, Police Exam, TET Exam, Railways Exams
@ 8939144344 16 & www.weshineacademy.com




Divide Rs. 672 in the ratio 5:3

a) Rs. 400 and Rs. 272 b) Rs.420 and Rs. 252

c) Rs. 300 and Rs. 372 d) Rs. 472 and Rs. 300
. 672- w33 el LusHTsL SlemL g

a) m.400 wmnD . 272 b) . 420 H@D 252
c)m300 whunh m 372 d) e 472 wmmib . 300

What is the difference between the compound interests on Rs. 5,000 for J%

years at 4% per annum compounded yearly and half- yearly?

a)Rs.2.04 b) Rs. 3.06 Rs. 4.80 d) Rs. 8.30

4% serB @il ell& sHHS 6, I% SLabEEDSHE b 3.000-53 UMBH D
sy Sassll Uubl sl suldHEh, yeigBE Bsmih (Wsns
SEMEBBILLLGD Fol (5 Ul IQE@EHD 2 61em  @ll&HEWUTEFID  sainar?

a) m. 2.04 b) . 3.06 c) m. 4.80 d) (5.8.30

The radius of a circular cylinder.is the same as that of a sphere. There volumes
are equal. The height of the cylinder is

a) ; times its radius b) % times its radius

c) équal to its radius d) équa_l toits diameter

@@ GuiTa L 2 memsnulst Synb,. oD Catasdlsi eHnE Fwbd, Guab
SImEUSBSTIEH Holl SI6TIaYH6N  FoID slaisn CHTAILL 2 (Hemermiisn 2 W Wirs?

4 _ , 2 . ;
a];wuﬁl@ DIFHE  DYJID b]'é'LDI_FEI@ DIH6  TID
C) 2iH@NMLILI agggaa"m@ Fob  d) omar el LsamE Fob

A man i._rives_ftfd% of his capital at 7%; iat 8% and the remainder at 10%. If his

annual income is Rs. 561 find the capital.

a) Rs.5,500 b) Rs. 6,500 c) Rs. 5,600 d) Rs.6,600

@@msuT 1% sullg allEHHI D@HanL L (LpHSLIgsY Apsiled @ LGS ENLILILD,
8% sully alSHHH DsumeHLI (PHSLIgs0 BTSSR @0 UGHSHENLWLED,
wWeapetsteng 10% auly slsissasun (WHsdlh GelinisisnmT. SmEuEHmLL) sumL
QUMLDTEND (M 561 4Tae0, SlQImMML LI (IPHEOL Nl &IN5,

a) Rs. 5,500 b) Rs. 6,500 c) Rs. 5,600 d) Rs. 6,600

LCM of X’ x*—a’and (x-a)’is

a) (x’a’) (x+a) b) (x*-a”)(x-a)*

¢) (x-a)?(x*+ax+a’) d) (x+a)® (x*+ax+a’)
x* X —a’ wnmin (x-a)® s@lusbiler 8w swig
a) (x*-a%) (x+a) b) (x*-a%)(x-a)’
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c) (x-a)?(x*+ax+a’) d) (x+a)* (x*+ax+a’)
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